1. ol® AojlA] 22 -3x S wholo} & 24 2T 5te] HISHEH U 242+ 5x
7 sJoiet. vk A Asstee wo) g

@ 2x% - 3x @ 2x% -bx ® 6x2 + 5x

@ 6x%+11x ® 6x% - 15x



)
5
O -5

=

e L



3. RO VRR, AR o] Hol7t 247t 24, 3a Q1 ASHA| 9] F17} 1247 -
24a’p =3l & T, EOl=?

D a-2b @ a-4b ® 2a-2b

@ 2a-4b ® 2a-24b



(¢}

=

oo

T w4 9= A2

a-3)(b+T7)=ab+T7a-3b-21

2x —y)(3x + 5y) = 6x2 + Txy — 5y°

D (
@ (
® (2x+y)(3x +2y) = 6x2 + Txy + 2)2
@ (3a+ 4b)(2a - b) = 6a® + 5ab — 4b*
© (

2x + )% = 4x% + 2xy + y?



2x-y+ 1> S AW Wy A AFE A, x A AFEBH T
o, A+ B ] k& F-sheiet.

D S
=%



6.

(x+y+3)(x+y-2)=Ax>+By> + Cxy+x+y—-6 °] 4
A+B+CO 2? (¢ A, B, C =4S

© -12 @ -6 ® o0 @ 4 ® 8



FXa, b HotA #, « Saftb=a+b-ab,axb=ala+b) =
BOStAL a = —x, b= x—4y & W, (a#b) + (axb) T x, y ol T3
Hoz eppa?

D x%2-y @ x%2-4 ® 2x%2 -y

@ 2x% -2y ® x? -4y



@ xX+y



==

<=

1.4 HH,TyPJ ghe Fatolal,



